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Measurement Problem Solving Cards Answer Sheet    
Use the following chart to solve problems with capacity measurement.                  

The equivalence card:          Answer the card:       Is there another answer? 

4 cups = ?   

4 cups + 1 quart = ?   

2 cups + 3 ½ quarts = ?   

3 cups + 1 cup = ?   

4 cups + 2 quarts = ?   

2 cups + 6 cups = ?   

½ quart + 2 cups = ?     

8 cups + 1 quart = ?   

½ cup + 3 ½ cups = ?   

1 quart – 1 cup = ?   

2 quarts – 4 cups = ?   

8 cups – 1 quart = ?   

16 cups – 1 quart = ?    

3 quarts – 4 cups = ?   

4 quarts – 8 cups = ?   


